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- every statisti data has o tendency to cluster
around a certain value 7 bo.m‘éjy at’the centre..
ol observations. This ,ée_m/en% ot _é}ze_Séaf&ém&
dai& is _knowh as /%_c_cenfmﬁ £endeﬂ%” F—
m—»ﬂ_)a—«_glf_wfcl._s_of Contral Te ng[gy_u_g;——?
*f#«Q—U—‘imﬁﬂmlJa.ﬁup Lwh :‘r}; /‘elor(é Jpn‘[‘f the
,__ejl{i[e_ stq h‘sfﬂaﬁ v//“g')‘_'gv, [S JQ_M&/Z a medsSure
/)‘ﬁ central {endency of 7%/1_14 dalz. .

‘ which rd)r&f ents the
entive <talistical dota is herther the Lowest
nor the highest value in the. dala., rather
it Dice in botween the two extreme values

_of the data,. .

| < .
%eh/ipm,du of a <tdbistical data “axe ¢—
iiJi) Mean U Median (171 Mode .

i

I_I MEAN /ﬁri‘f}?maffc, Mean)

I The. average. oﬂ numbers in arifhmpfic i5 énown

| as the ﬁ)gil_—hmﬁ[-k Mean ot thece numberec in
statistics.

Mean of an Ungrobg/oeo( Dala, .
The MNMean of *n” obseryations A NS JPECER,
(& giveh bg the. ﬁoﬂnu/a, 3 —

——

X, + Xy +X 3+ -——— 1+ Xp _ S-X-L.
Mean = =
n n

where the =, called *sigma’ stards for the.

sum,maéion gf the 4erwms.
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M3 Ke

an Mti Il the mean of 17, /o. 9, [,2 x,3 /s
| 2.5 5 Lind U\@ value. oﬂﬂ)c

L _Sod uémn - _Sum wog.__zf/\e,_ﬁ IVehmnuméﬁm

tu_‘ i = J4+lo+Y+)2 £x+3 = 36+x
ﬁ“blumbar mp H’)pse, -(:erms = £

“ Cy;ypm_m@an = 7-5 =) 36+X = 745

| &

LD 36+x=Y5 D y =ys5-36 =9

_)ianoe/ x =9

Methods for finding
Arithmetic Mean

Direct Short cut Deifsgon
Method Method Method

4 Nouw , _&e,{‘ us  discycs aéout

, mean of Groubed
Dato

D Direct me?f/’mf){ l/\/hen the. variate.s (éerms\
5 X5 S s e Aal/a freﬁuenae_g; {; -ée
]E -£) - - - - ‘fp-; r€§bﬁf ’é‘)VPjU ' ‘é}'l?h éAp mpalfl
s g/vem bu qu " ormuld,
D ) p \
m@n _ K‘I’;X-, -+ 'FLJ(L ’i‘+3){3 i - ==TTFnXy )
Lﬂ”;‘l‘-ﬁ + ~7'—-—"‘ #h)
= 5 fb X 'r/\
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Welq/nf //nbcy) Yo ys Y& 48 yq |

| Num&r me athlotec 4 3 5 . = L
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1!; Find the. mean weta/’lf
Soﬂuﬁon - ):Vnm ‘{:}Le_ abon dafa, wée. mdal/
‘ }orebare the 4able anfpn bpjow —
//J Wemht X)) | Fresuency | Ly
! [l)’l kq) ?—ﬁ(,) d !
| TP u | 163
& 3 |BS |
Hé 5. 230
48 P 96
- Y9 / Y9
| 2f=i5 slix; =678
Medan Wma}zf = éf X = £FZ8 = Y5.2 Jgq
| =¥ , o 4B v
- . Hence. , the mean we ight of Hxa g/ven |
| team s Ys.2 )caa B
M’P/\) 5/’20)"i Cut /né‘f/’lod — Under this me é/wm(

ou.amf £les Qet (nnl/eri‘ed mfo sma/fpr

\W“k'”j the brocess of mu,(’,ﬁé;ﬁ/caf/on and. |

0/“’%8)’

_division easier:

Method := From the a,u/en dala, , we. suréa,é#

~hoose. o term, uxuaﬁ/j_t&e._m szée;;éarm B

and_call it f/m assumed mean , to be Aonoted,

by A.
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Class 1o 1

B e o Braly e et B

s s gl
B8 K /:Lfor_e,,mﬁ fem_

S&,. f)']eah =

——, _)

Mﬁhb’tdﬂ’\‘,/)[a 3 U:sinq S/mNL cuk mg%hod/f/n;é L%@____
mean Lrom ‘the following dala. |

23 2Yl

\/aria%e Q) | 8 19 2% 2.1 22 ‘
..f}freoufencu/f IRV B39 Sp7F 396 i 3’92 (//:z}
Qnﬁu {‘loc)/q - Z,e(f f/’@ as.vumcsg( mean be /) 21

me the given dd,ta L, e Arp/)ara éhp #aé/pl

|

3:1/@” belnls:—

E} Variate Frpﬁu,prmu o, = xp =17 f!'dl‘
|| ) =2
| (8 184 LB, - 550
I 19 212 -2 -42Y4
20 327F =] -22+4
2] 374 o O
23 & 1Y | 514 |
23 372 2, FYY |
2Y Y15 = 1245
y sf =2500 Stdi=1200]|
mp,rp«npore_/ Mean = A+ = fc' o I
| =4 |
= D4+ [Rp0 = 2|+ 0.52 |
2500
= 3|85
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| :) step Deviation Method — In fhe breVIDLLS
— maf/?oc{, of the A)s_g(,(mea{ /)’Ie_an Dgwahon wée
caledoted d; = x;-A ,where. A Stands for the.

assqu,g(«_m,e_a_rL In_mogf ,p [’Ae ﬁrob‘,éemj (.um{f/')
Gp QAML_LJQSL&S s the same. ,S& We can -Ziri’ﬁpf

Slmbﬁlfu ‘H’\,e Ca,@fuﬂaf/ons oﬁ Hug mean bL{

th 'va._tncan of U, Ua Uz == Un -

i where U{ = Xy —A ” Z (s HL@ /A)J['A a/ C,ZOSS
| A

| mh the. mean is au/en b%vL/Jp Lormula. : -
_Mean = = A & 2£u N

4' =4

£xaw\}3/e,('/ — Find the mean of the -ﬂo.//owzy@
d—ls’érlbbl'élo}’l bq SLLQA dé,VICZLL/OM Ma#/n)d./

Clace - méerm,&IZO -30 20-Yo5 Yn-50 s5p-606 So-F0 Zo-go

.ﬁre,;uencfc/ [o = 8 [2 5 ol |

| v

j' Sojm!ion:f ot A = Y5 and A =10
V]

Clpcses Clasemark | L:Jg-ﬂ’ s PLruys
(ei) | F
20-30 25 =233 o [o — >0
Sp=ifi ] | B | p Lie
lyo-50] 45 - | bz g A
| 50-60 55 . I i 12 45
| 60-%0 55 2 5 10
| 70 -8o0 F5 2 9 g
| 77)1’-01 506 & R
Now, Mean = A+ = fiul xJ
B
= Ys 4+ 23 xjo = Y9.4
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@(lmlgﬂc 5 '~ 7)1@ mar/cg,‘boéfamgd /ou Yo students

Al ina short. assess nLe,gf are. (/qn/en bdnw
| _._,LUZI.&.L&__.CL__ & VLCL b are " lwo missin g dafd, £ o
Mayks : A6 P2 a 9

N():Dﬂ Séb{/ﬂan%s S ) Y 16 12 b

T¢ the mean of the distribution /s 7.2,

Lind ‘a’ nnd B’

Soﬂufion— We have

MO_rks l\lu mbpr 0# s{-udenf-r ‘ -£ e s &

| o <

() L)

5 6 30
& [y, S
P 16 112
8 13 o4
9 b 9 A5

slf=z25a+h éu=246+6a+9b

()f\/pn <f =
i 7=t

= 35 +a+b=Yo = ath=5 ———-¢

Alia , Mean = < flx. _ 24s+ Ba+9k

"n

(TN
[

C—

= 2Yb+48a+9b = 7.2 [Z,,‘uen/ﬂ’lpan :7..2_]
Yo

= 246 +8a+9b = Z:2xYo
<% cEa el =YD >2a+%b~/v_w{m

/
!\!()(Ll/, .QQﬁl/IAUQ 9_£I4C4'/?10h » 0}16{ (L) p we_g,ez‘
2&—4—)5 =la

—2a+3b=lY a=5-Y4 =]

Cen PO |
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So, a=]| and b=Y
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Class lo, Maths

S MNMs Keena

E)(ambfeﬁ 77{p mean JH? H\e, —.Zoﬂr)wma freﬂw %,
distribution isg>.8 and the sum aof M f/l ,

fre&uencms is 50. Fnd the valuec AKVA/M‘//@’

Cﬂasng 0-20 20-Yp Yp-Bo Bo-8o  Bo-loo loo=Il20

f:rpoaem 5 b o g F 8

Snﬁufm We can Use s%eA dpwaf/on mez‘/m//

Construct the toble as an//pr fakma assumed.

mean, A =30 . Here ‘A’loidth of fﬁnm =20

‘ = S
(ﬁassg Cﬁas%)ntqélyk bl 5 %_;@ f[ -/-Df Ur
0—=2.0 o -3 B . — 15
20-Yo 3o -2 A ' —-Z/A
Yo-6o 50 - | lo = jO°
So-80 70 O 9 0

Bo - oo 90 | 7 7
loo—l20 Lo 3 8 |6~
Total . 3o+tp+tg | —2b_2
Since. _sum o 10 fregumq cles s bo

= Both+g =250 =D pitg =20 — - ()

Mean = A+ = Liuc Ny

=
= 2.8 = Fo + (2p=2) x20
S0
=5 2 2p+2) = Fo =628

5

=2 Y+ =5x7.2 > =8

/

USing [/'),. we. qé_f (?-/—z = 23 :) 2 = 5
He,nrpj!a =8, 2 = /2.
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